Tableaux des Puissances de Dix (G)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (G) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,001 100 10 000 0,1
6,73 0,00673 673 67 300 0,673
4,18 0,00418 418 41 800 0,418
9,1 0,0091 910 91 000 0,91
5,96 0,00596 596 59 600 0,596
7,58 0,00758 758 75 800 0,758

X 10 000 0,1 0,001 100

6 60 000 0,6 0,006 600
8,75 87 500 0,875 0,00875 875
5,71 57 100 0,571 0,00571 571
4,98 49 800 0,498 0,00498 498
7,21 72100 0,721 0,00721 721

+ 10 000 10 0,001 100
8,62 0,000862 0,862 8 620 0,0862
3,54 0,000354 0,354 3 540 0,0354
9,91 0,000991 0,991 9910 0,0991
5,18 0,000518 0,518 5180 0,0518
6,11 0,000611 0,611 6110 0,0611

+ 0,1 0,01 10 000 1 000
2,58 25,8 258 0,000258 0,00258
8,88 88,8 888 0,000888 0,00888
7,84 78,4 784 0,000784 0,00784
3,19 31,9 319 0,000319 0,00319
1,57 15,7 157 0,000157 0,00157
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